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Note - First 15 minutes arc allotted for the candidates to read the question
paper.
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Instruction :
i) Al questions arc compulsory. Marks allotted to each question are

given in the margin.
ii) In numerical questions, give all the steps of calculation.

iii) Give relevant answers to thc questions.
iv) Give chemical equations, wherever necessary.

. 38 9H % Y% gvg d ur feer i 7w d) wd fashes TR 38wt IW
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@) Fofdfas fe dife § Mo 6 AT @610+ 6 7 ?

ij  MnyO, i)  K,MnO,

i)  KMnO, iv) MnO, !
m) ﬁn%ﬁaﬁ%ﬂ@ﬁﬂﬁq—mwﬁﬁ%ﬂ%%mww%?

i) H,O 1i) en

iii)  NO; iv) NHj. 1
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a)

b)

d)

Four alternatives are given in each part of this q
correct alternative and write it in your answer-book :
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uestion. Select the

The colligative property is
i) Osmotic pressure
iiij  Density iv)  All of these 1
In which of the following compounds, oxidation number of
Mn is +6 ? '

i) Surface tension

i) Mn,0, ii) K,MnO,

"ii)  KMnoO, iv)  MnO, ‘
Which of the following ligands can act as an ambidentate ligand ?
ij  H,0 i) en
i) NO; iv)  NH, . :
Which of the following is obtained by Rosenmund’s reduction of
acyl chloride ?

i) Aldehyde il)  Alcohol

ii) Hydrocarbon iv)  Alkyl chloride !
Which of the following gives isocyanide test ?

i) Primary amines ii) Secondary amines

iiij  Tertiary amines iv)  Acid amides

In nucleic acids, the nucleotides are linked together by

i) Peptide bond i)  Phosphodiester bond

iii)  Glycosidic bond iv)  Hydrogen bond
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2. a) 2:82 g of glucose (molar mass = 180 g mol-!) is dissolved in 30 8 of
water. Calculate the molality of the solution. 2

b) Discuss the method of preparation of potassium dichromate from
chromite ore and write the structural formula of dichromate ion. 2

3

¢)  Discuss Werner’s theory of coordination compounds. 2
d)  Describe the mechanism of bimolecular nucleophilic substitution
reactions {Sy2) in haloalkanes. 2
3. &) TOEV T MR P wEw ay fawor § sqewr afe s w2
g) EHfa ) i THia F gagme) 2
M) e afeds w2 2 Ufteene Y IR aftetw ¥ gy sfifen w1
Tt afie fafen 2
") W & fagdiem W w afim ot fifaw | : 2
3. a) What is osmotic pressure ? Explain the difference between osmosis
and diffusion with example. 2
b) Explain the acidic nature of phenol. 2
c) What is Tollen’s reagent ? Write the chemical equation of the to
reaction of aldehyde with Tollen’s reagent. . 2
d)  Write a short note on denaturation of proteins. 2

4., W) Wm@nﬁaﬁw&mﬁaﬁﬁm%g@?ﬁqm(gﬂeoﬁ)
% 300 g 9 § W Tl e & fewie ) o R T ¥ D
AT fRRIH H1 AM 1-86 K kg mol™ 41 91 & &% 27315 K} 3
@) i) HEey & e R ey e K @l
i) fhelt A svwen F faers A AR T F) whonfe S
2+
) aﬁwﬁmaﬁmﬁﬁmmﬁﬁﬁmmﬁﬁmmﬁhﬁﬁq%u&
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4. a Define molal depression constant. Calculate the freezing point F,f
f ethylene glycol (C,H(O,) in

the aqueous solution containing 25 g O -
300 g of water. The value of molal depression constant for water is

1:86 K kg mol™! and freezing point of water is ?73'.15 K. 3
b} ) Explain Kohirausch’s law. Write its applications.
ii)  Define molar conductivity for the solution of an electrolyte.
2+1]
¢)  Explain the difference between molecularity and order of reaction.

Show that the time taken to complete three-fourth of the first order
reaction is doubled to its half-life. 3

d) 1) Explain Lanthanide contraction with reason.
i)  Zn?* salts are white while Cu®* salts are blue in colour.
Why ? 2+1
5. F) i) o vams 0 % e R a4 ot ¥ afvfeaa |
ferfau 2
11) frfafiga aa & fHo @0 o A ToF Hifsr - 2

Cu(solid)| Cu®*(1M) || Ag*(0-01M)| Ag(solid)
fend: E%Cu?|Cu)=+0-34V
E°( Ag* |Ag)=+0-80V
@) fedt fufhn & a1 @ 3@ & ® IME O 2 ? W UH Hife hi
wfufean 50 fire § 40% of @t 21 afifsen & 80% T &1 # @M T
gy H T hife) (fea 2 : log2 = 0-3010 @1 log6 =0-7782)

1+3

1) i) I99EHENH Nl § AR TEEEEd aun IYHgEdISE aateaadl B
ITE wfgd FHHY 2

iy fefafiga syagaasm dfi % 1upac ™ fafe . 1+1

dA)  [CoCl,(en),]Cl
9)  Fe [Fe(CN)],

g) i) HEERE FAE ? HE U R % @9 3w R fafaw
fefd AT cF @ e Fh SN A @ I Fam o

fafauy 2+2
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Write the cell rcactions taking place during the discharl

lead storage battery. )
ii)  Calculate the e.m.{. of the following cell :

Cu(solid )| Cu®*(1M) | Ag*(0-01M)| Ag(solid)
Given E°(Cu®' |Cu)=+0-34V
E°( Ag* |Ag)=+0-80V

What is the effect of catalyst on the rate of a reaction ? A first order
reaction is 40% completed in 50 minutes. Calculate the timc taken

for 80% completion of the reaction. (Given : log2=0-.3010 and
log6 = 0-7782) 1+3
i) Explain ionisation isomerism and coordination isomerism in
coordination compounds with example. 2
ii) Write LU.P.A.C. names of the following coordination
compounds : 1+1

X) [CoCL, (en),|CI
y) FC4[FE(CN]6|3

i) What are carbohydrates ? Write the difference between
glucose and fructose.

ii) Write the main sourccs and the discases caused by the
deficiency of vitamins A and C. 2+2

Prferaa srftrfsrait & fore wamafyes adiem fafgu . 1+ 1+ 14141

) a0 # g

i)  FARESI A AR

iii) U4 sATsS Y difean wuiwRe @ sffem

iv)  gea-fefen arfifsman

v)  fefen sifiifsean

=

i) TS B OIEW N W A 6 e Wil
yfeeee il § aeitha amai- aen du-Pdes )

i)  Bparia aw &.HA. F 3w aw w@iRw @@ = wE W o Gy
feueft ferfa 2+3
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6. a) Write the chemical equations for the following reactions :
1+1+1+1+1
i) Sulphonation of chlorobenzene
ii) Nitration of chlorobenzene .
ilij  Reaction of ethyl bromide with sodium ethoxide
iv) Wurtz-Fittig reaction
v) Fittig reaction.
OR |
i) Explain by giving the example of chlorobenzene that chlorine

is ortho- and para-directing in electrophilic aromatic
substitution reactions. https://www.upboardonline.com

i)  Write a short note on the uses and effect on environment of

Freons and DDT. 243

b) i) Write the chemical equations for the method of preparation

of primary, secondary and tertiary alcohols from Grignard

reagent.
i) Write a short note on Williamson’s synthesis. 3+2
OR
i) What happens when — (write chemical equations only)
X) Anisole reacts with acetyl chloride in the presence of

anhydrous AICl, ?

y) Phenol reacts with chloroform in the presence of |
aqueous NaOH ? |

ii) Write a short note on hydroboration-oxidation reaction for
the preparation of alcohol. 1+1+3

a Al 1A
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quia difre) 3 rfifseanati & tamte i oft fefsa) 3
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e
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i) st AR
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iji)  hrfee U arff)
What happens when — (write chemical equations only)
1+1+1+1+1

1) Acetone reacts with sodium hypoiodite ?
Acetaldehyde reacts with ammonia ?
Acetic acid reacts with ethyl alcohol in the presence of

concentrated HySO, ?

Formaldehyde reacts with ammonia ?
Benzene reacts with carbon monoxide and hydrogen chloride

in the presence of anhydrous AICl, ?
OR
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Writc short notes on the following : 2

1) Cross aldol condensation
1i) Etard’s reaction

i)  Cannizzaro reaction. ' ' . ‘
b) i) Describe Hinsberg’s test for the identification of primary,

secondary and tertiary amines. Also write the chcmical

equations of these reactions. A ‘ . 3
i)  Why primary amines have higher boiling point than tertiary

amines ? 2
OR
Write short notes on the following : 2+2+1
i) Diazotisation reaction

ii) Gabriel phthalimide synthesis
1) Carbylamine reaction.
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